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‘ g g 5 IR 105% (BEFE  SHI6EE)
B (K% - &%) euras| (REEE |rEFHEE|eeces| REEE |rrsaEn|emmnross|  [HE
I EISINES Jk#E| 4439 ha| - ha|/fE| 53.03 ha| - ha 1
MR FERF Z ot 1.67 hal - halzom| 2.08 hal - ha 2
RE B N sewz| 078 ha| - ha|mssx| 1.67 hal - ha 3
RE B NS wewz| 048 ha| - ha|m®sxz| 147 hal - ha 4
RE B NS sewz| 1,13 ha| - ha|mwsx|  1.44 hal - ha 5
i BRI F8| 117 ha| - ha|E#| 117 ha| - ha 6
kS EISINES wew=( 1,11 ha| - ha|m#sz| 1.11 ha| - ha 7
FmE FERNE wemx|  0.99 ha|l -  ha|szsz| 0.78 hal - ha 8
E=ES EISINES %G| 0.90 hal - ha|/k#E| 0.90 ha| - ha 9
Gil)sE BN wemx|  0.77 ha|l - ha|szsz| 0.77 hal - ha 10
FIR%E E N S Rt 074 hal - ha|ERE&| 029 hal - ha 11
Gil)sE BN wemx|  0.71 ha|l -  ha|szsz| 0.71 hal - ha 12
Gl=ES EISINES kG| 0.65 hal - ha|/k#E| 0.65 ha| - ha 13
FIR%E ESINES #E[  0.98 ha|l - ha|s/kFE| 061 hal - ha 14
AR E N S sewz|  0.60 ha| - ha|mwsxz| 060 hal - ha 15
ll=E ESINES Rl 057 ha|l - ha|E&| 057 hal - ha 16
fIRE E N S sewz| 056 ha| - ha|mwsxz| 056 hal - ha 17
FIR%E ESINES #E[ 053 ha|l - ha|s/kfE| 053 hal - ha 18
E=ES EISINES kG| 0.60 hal - ha|/k#E| 059 ha| - ha 19
FAZE JERNEK zoft| 053 ha|l - halzoi| 043 hal - ha 20
Zl=ES EISINES kG| 0.41 hal - ha|/#E| 041 ha| - ha 21
FA#E E1NE 7K 0.20 ha| - hal|7k%8 0.40 hal - ha 22
s FERNE zot| 0.37 hal -  ha|zo#| 037 ha| - ha 23
Zll=E ESINES #E|  0.36 ha|l - ha|s/kfE| 036 hal - ha 24
FEAE FERNFK zot| 0.38 hal -  ha|zo#| 034 ha| - ha 25
RIE ESINES zot| 0.00 hal - ha|zo#| 034 hal - ha 26
AmE FENE mesz|  0.33 ha| - ha|=esxz| 0.33 ha| - ha 27
Gil)sE E1NE weex(  0.00 ha| - ha|m=s=| 0.33 ha| - ha 28
Zl=ES EISINES G| 0.32 hal - ha|/#E| 0.32 ha|l - ha 29
A E1NE Rigt 0.39 ha|l -  ha|ZR# 0.31 hal - ha 30
FIARH EIINES zot| 0.31 hal - hal|zo#| 031 ha|l - ha 31
AAE EISINE swsz|  0.00 ha| - ha|sssxz| 0.27 ha| - ha 32
% B IN zof| 0.26 ha| - halzo#| 0.26 ha| - ha 33
FIA% EISINES A#E[  0.09 ha|l - ha|s/KFEE| 0.25 ha| - ha 34
= FERFE KFE| 0.23 ha|l - ha|skfg| 0.23 hal - ha 35
Fil)=ES FENE zoft| 0.23 ha|l - halzoi| 0.23 hal - ha 36
= IR KFE| 0.28 ha|l - ha|skfEg| 0.23 hal - ha 37
FIA%E FENE zoft| 0.22 ha|l - halzof| 0.22 hal - ha 38
i BN zof| 021 ha| - halzo#| 021 ha| - ha|l 39
FIA%E FENE zoft| 0.00 ha|l - halzo#| 0.21 hal - ha 40
IR EISINES Fg| 0.21 hal - ha|/#E| 0.21 ha| - ha 41
FIA% EISINES A#E[  0.21 ha|l - ha|s/kFE| 0.21 ha| - ha 42




gillsEs Jk#E| 0.20 ha ha| 7k #g 0.20 ha ha 43
T=ES zoft] 0.20 ha ha|zoft 0.20 ha ha 44
M zofe| 0.20 ha ha|zof| 0.20 ha ha 45
=R k#E[  0.20 ha ha|7kfg| 0.20 ha ha 46
MR zo| 0.18 ha hal|zof| 0.18 ha ha 47
e k#El  0.18 ha ha|7kfg| 0.18 ha ha 48
= FE[  0.17 ha ha|7kfg| 0.17 ha ha 49
FIF% k#El  0.33 ha ha|7k#&| 0.17 ha ha 50
M zofe| 0.16 ha ha|zof| 0.16 ha ha 51
T=ES zoft] 0.25 ha ha|zoft 0.16 ha ha 52
M zofe| 0.15 ha ha|zof| 0.15 ha ha 53
TES zoft] 0.15 ha ha| %ot 0.15 ha ha 54
FIR%E KFE[  0.25 ha ha[7kfE| 0.15 ha ha 55
A% K i 0.15 ha ha| 7k #g 0.15 ha ha 56
A zot| 0.23 ha ha|z o1t 0.14 ha ha 57
A% K i 0.72 ha ha| 7k#g 0.14 ha ha 58
e zots| 0.00 ha hal|zo) 0.12 ha ha 59
EES zoft] 0.00 ha ha|zoft 0.11 ha ha 60
FIR%E AFE[  0.11 ha ha[7kfE| 0.11 ha ha 61
A% & 010 ha ha| £%&f 0.10 ha ha 62
FIR%E K#E[  0.10 ha ha[7kfE| 0.10 ha ha 63
FIR%E #E| 0.10 ha ha|7k#&| 0.10 ha ha 64
e zot| 0.10 ha ha|zofs| 0.10 ha ha 65
A zofs] 0.00 ha ha| % oft 0.09 ha ha 66
LS zoft] 0.08 ha ha|zoft 0.08 ha ha 67
A zoft] 0.07 ha ha|zoft 0.07 ha ha 68
A zofs]  0.07 ha ha| % oft 0.07 ha ha 69
A zofs] 0.00 ha ha|zoft 0.07 ha ha 70
FA#HE Zoft 0.07 ha ha|z ot 0.07 ha ha 71
A zof]  0.00 ha ha|zoft 0.07 ha ha 72
Zll=E K#E[  0.05 ha ha|7kfg| 0.05 ha ha 73
A zoft] 0.05 ha ha| % oft 0.05 ha ha 74
LS zoft] 0.05 ha ha|zoft 0.05 ha ha 75
Zl=ES kG| 0.24 ha ha|7kfg| 0.04 ha ha 76
T=ES zoft] 0.04 ha ha|zoft 0.04 ha ha 77
gl zo| 0.03 ha hal|zofz[ 0.03 ha ha 78
T=ES zoft] 0.05 ha ha|zoft 0.03 ha ha 79
MAE zo#| 0.00 ha hal|zof| 0.02 ha ha 80
T=ES zoft] 0.02 ha ha|zoft 0.02 ha ha 81
FRH zoi| 0.02 ha ha| %ot 0.02 ha ha 82
T=ES zoft] 0.06 ha ha|zoft 0.06 ha ha 83




